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Logically these are rules of conduct. Every country has laid 

down comprehensive series of practical rules for citizens for 

resolving mutual contradictory rights and interests. Most of 

these rules have been laid down to sustain social activities. 

For instance, many countries have laid down rules to protest 

against such unsocial activities as theft, attack and murder. 

These rules are backed by judicial system and executor 

institutions, which look after the people who obey the rules 

and also who violate the rules. Wherever the human 

behaviour is involved such rules are not only for namesake 

there but are necessary also. 

Human beings are susceptible to violate rules. 

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in 

the passage. 

(B) if the inference is ‘probably true’ through not definitely true in the light of the facts given. 

(C) if you think the data are inadequate i.e., from the facts given you cannot say whether the 

inference is likely to be true or false. 

(D) if you think the interference is ‘probably false’ though not definitely false in the light of the 

facts given and 

(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts. 

Ans: A 

The given inference directly follows from the last sentence of the passage. 

Question: 2 

There are no rules in countries where citizens interests and rights 

do not contradict. 

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in the passage. 



 

 

(B) if the inference is ‘probably true’ through not definitely true in the light of the facts given. 

(C) if you think the data are inadequate i.e., from the facts given you cannot say whether the 

inference is likely to be true or false. 

(D) if you think the interference is ‘probably false’ though not definitely false in the light of the 

facts given and 

(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts. 

Ans: E 

It is mentioned in the passage that every country has laid down rules of conduct. This 

contradicts the fact given in the statement. 

Question: 3 

There is no need to have any machinery to ensure strict adherence 

to the rules by citizens. 

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in the passage. 

(B) if the inference is ‘probably true’ through not definitely true in the light of the facts given. 

(C) if you think the data are inadequate i.e., from the facts given you cannot say whether the 

inference is likely to be true or false. 

(D) if you think the interference is ‘probably false’ though not definitely false in the light of the 

facts given and 

(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts. 

Ans: E 

It is mentioned in the passage that rules of conduct are essential to ensure peace among 

citizens, which also hints at the necessity of the machinery that can scrutinize the citizens who 

violate these rules. 

Question: 4 

Without rules, human behavior degenerates into anarchy. 

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in the passage. 



 

 

(B) if the inference is ‘probably true’ through not definitely true in the light of the facts given. 

(C) if you think the data are inadequate i.e., from the facts given you cannot say whether the 

inference is likely to be true or false. 

(D) if you think the interference is ‘probably false’ though not definitely false in the light of the 

facts given and 

(E) e. if you think the inference is ‘definitely false’ i.e., it contradicts the given facts. 

Ans: A 

The given inference follows from the last sentence of the passage. 

Question: 5 

There is no need of any rules if individuals do not have to interact 

with each other. 

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in the passage. 

(B) if the inference is ‘probably true’ through not definitely true in the light of the facts given. 

(C) if you think the data are inadequate i.e., from the facts given you cannot say whether the 

inference is likely to be true or false. 

(D) if you think the interference is ‘probably false’ though not definitely false in the 

light of the facts given and 

(E) e. if you think the inference is ‘definitely false’ i.e., it contradicts the given facts.  

Ans: E 

The passage stresses on the need of rules of conduct to prevent unsocial activities such as 

theft, which do not require human interaction. Thus, the rules are a must in every condition. 

 

 

 

 

 



 

 

 


